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1 2 3 1

4 5 6 2

1 2 3

x x x b

x x x b

c c c
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1 2 3 1

4 5 6 2

1 4 1

2 5 2

3 6 3

(1)  

x x x b

x x x b

x x c

x x c

x x c
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5��8� i jx x≠ ���������i j≠ ��
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1 2 1 2 3(2)  b b c c c+ = + + �
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6
1 2 3 4 5 6( , , , , , )x x x x x x x= ∈� �

5
1 2 1 2 3( , , , , )d b b c c c= ∈� �

1 1 1 0 0 0

0 0 0 1 1 1

.1 0 0 1 0 0

0 1 0 0 1 0

0 0 1 0 0 1

⎛ ⎞
⎜ ⎟
⎜ ⎟
⎜ ⎟
⎜ ⎟
⎜ ⎟
⎜ ⎟⎝ ⎠
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6 |L x Ax d= ∈ =� �
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1 2 1

( 1) 1 ( 1) 2

1 2

j

k j k j jk k

j

x x x b

x x x b

c c c
− + − +
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1 2 3

4 5 6
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9 8 4

x x x

x x x
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{ }1 720 6
6(3)  , , ,V p p= ⊂� �
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{ } 3
3 (1, 2,3), (1,3, 2), (2,1,3), (2,3,1), (3,1, 2), (3, 2,1) .V = ⊂ �
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3 2( 1)( 2)( 3) 6 11 6 0i i i i i ix x x x x x− − − = − + − =
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3 1 2 3( , , ) | 6 11 6 0, 1,2,3 ,i i iV x x x x x x i= − + − = =�
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3 2
1 1 1

3 2
2 2 2

3 2
3 3 3

1 2 3

6 11 6 0

6 11 6 0
.

6 11 6 0

6 0

x x x

x x x

x x x

x x x

⎧ − + − =
⎪

− + − =⎪
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⎪ − + − =⎩
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3 2
1 1 1

2 2
3 1 1 2 2 1 2

1 2 3

6 11 6 0

(4)  : 6( ) 11 0.

6 0

x x x

V x x x x x x

x x x
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(1)  0 ,∈ �

(2)  , ,f g f g∈ ∈ ⇒ + ∈� � �

[ ]1(3)  , , , .nf x x g fg∈ ∈ ⇒ ∈� � � ��
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3 2
3 1 1 16 11 6,f x x x= − + −

2 2
2 1 1 2 2 1 26( ) 11f x x x x x x= + + − + + ���

1 1 2 3 6.f x x x= + + −
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[ ] [ ]{ }3 1 2 3 1 1 2 2 3 3 1 2 3, , | , , , .if x x x f a f a f a f a x x x= ∈ = + + ∈� ��
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x x n a x
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1, , rx x� �����	��	�������	�

1
4 1 2 3 4 ,M x x x x= + + +
3 3 2 2 3
2 1 1 2 1 2 2 .M x x x x x x= + + +
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, 1 2k k k
k nb n= + + +�
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1 1
1 1, 1 1, 1 , 0,k k

k n k n n n k n k n n k n k nf M a M a M a−
− + − − + − + − + −= + + + + =�

1, , ,k n= �

,
1

,
n

k
k k ng x b

=

= −∑ �
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6 5 4 3 2
6 1 1 1 1 1 121 175 735 1624 1764 720,f x x x x x x= − + − + − +

5 4 3 2 1
5 2 2 2 2 221 175 735 1624 1764,f M M M M M= − + − + −

4 3 2 1
4 3 3 3 321 175 735 1624,f M M M M= − + − +

3 2 1
3 4 4 421 175 735,f M M M= − + −

2 1
2 5 521 175,f M M= − +
1 1 1 2 3 4 5 6 21,f g x x x x x x= = + + + + + −

2 2 2 2 2 2
2 1 2 3 4 5 6 91,g x x x x x x= + + + + + −

3 3 3 3 3 3
3 1 2 3 4 5 6 441,g x x x x x x= + + + + + −

4 4 4 4 4 4
4 1 2 3 4 5 6 2275,g x x x x x x= + + + + + −

5 5 5 5 5 5
5 1 2 3 4 5 6 12201,g x x x x x x= + + + + + −

6 6 6 6 6 6
6 1 2 3 4 5 6 67171.g x x x x x x= + + + + + −
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6 1 1 2 2 3 3 4 4 5 5 6 6(6)  , , , , , ,R x a x a x a x a x a x a= − − − − − −�
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6 1 2 3 4 5 64, 2, 1, 5, 6, 3 .R x x x x x x= − − − − − −�
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